2016-10-11 - CP Physics - F16 October 11, 2016

S'Eﬂ_ (__Lwt,\ '?..'R_)_\_
A> ’63 Ec\ glg

J——I5

(X
[
N

N




2016-10-11 - CP Physics - F16 October 11, 2016

1
]

T

£
*
X
&




2016-10-11 - CP Physics - F16

3) N - 07

O___”,v.r/i l_/J\.‘ =P

October 11, 2016

2
V.2

he = 5.

£ Z 9
(3”‘/s)1




2016-10-11 - CP Physics - F16 October 11, 2016

Ws 4
e———F— \ =

E;); - Mc\%l,\

= (4o ka) (G572 (5 )
= 19600
E,.- 04 (E,);): 010 1%605)
= 19¢J
€= Cut By
£y = ’%%7'4 CeL.

L_Cc._C
wx\/{: = Lc')' (:"I'L\.

L
>
- 2(65);—€1_
N CE
Ztmor-mﬁ'\
T qoly
Q. 39"

D

(\



2016-10-11 - CP Physics - F16 October 11, 2016

H4)
>E“‘t36"‘ Cy € Eu

)
S
~

\/\lorlf— fanm

) gon

W:Ek{+634

[a
,‘%w\\/{ ‘{' V‘/\C\SL\_Q

\)

\\

,'z—’ ((oooolc.b)(nu'o"?’;')z 4
(1000oks) (1.6 758} (105 002x
- 1.4y @j(O:S_'I’ 1.CeTT

| (0T

\



	Page 1: Oct 11-2:22 PM
	Page 2: Oct 11-2:44 PM
	Page 3: Oct 11-2:54 PM
	Page 4: Oct 11-3:16 PM
	Page 5: Oct 11-3:33 PM

